SN SRR D
H: EXNRX (MY - BAIY/MATE - D3
B9 SXRIES 2 (ol @

0

SXHRE D 10,985,000 17,132,441 26,147,441
= 8,736,000
5 2,249,000

SRR (M - SAI|Y/MATE - DT 10,958,000 16,889,550 15,931,550
= 8,736,000
= 2,222,000

SXnREs s 332,000 538,400 206,400

BAX JILRE ONE M 238,390 451,600 £213,210

201 Yer2gy| 168,800 270,000 £101,200

01 AR 22l 124,000 220,000 96,000
oJlggx &2 20,000
©OIFIIY AIMEIA EA 92,000
OJIYRX EBE Y 29 12,000

02 ZB=ZH 7,800 0 7,800
OJIYRX S X KX 7,800

03 A2 I 37,000 50,000 £13,000
OSUR2IIY HAX R o 37,000

202 O Hl 31,590 85,400 £53,810

NERET 31,590 45,400 £13,810
©@IIYRX OIEY HHEX 31,590

203 2P| 3,000 65,000 262,000

03 A FRALE Y| 3,000 65,000 £62,000
OSXRX ZE I Y28 © 3,000

403 XIS HSKH20I 35,000 0 35,000

02 271 2+S0ll CHBHCH & AHS b 35,000 0 35,000
OXLH F2HAt HE 35,000

JIYRR AMEIS XY 5,000 5,000 0

301 et AR 5,000 5,000 0

12/EH2 42 5,000 5,000 0
ORIZIAEI} JYRK A2 5,000

IYERFR HAF 4T 28 88,610 81,800 6,810

201 Yt 13,010 9,800 3,210

01 AR 2 2lH| 13,010 9,800 3,210
OZEUAR 01FIIY ATALARCH 10,010
OSRRX N2 2Y 3,000

301 LPBAS 75,600 72,000 3,600

12J|EH2 42 75,600 72,000 3,600
OSXRX X2 2 75,600

OI®IIY MEXH 10,599,000 16,324, 150 25,725,150
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2 01dIIY MEXR
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8,736,000
= 1,863,000
=3 01dIY EXZ2 N (31) 10,599,000 13,697,000 23,098,000
= 8,736,000
= 1,863,000
403 TXIHHMS =018 10,599,000 13,697,000 23,098,000
& 8,736,000
3 1,863,000
01 AXEHAEEE 10,599,000 13,697,000 A3,098,000
O0IMIIY Ex= 10,599,000
= 8,736,000
& 1,863,000
Y ¥ 3L XA 27,000 27,000 0
STLE Y 29 27,000 27,000 0
201 L2 27,000 27,000 0
02 3324l 27,000 27,000 0
OZFLE2CIFEY 2EH 2g= 27,000
HH2LIH(SEXNF X)) (OIEH/IIE) 27,000 242,891 2215,891
Jl=2Z 27,000 104,411 ATT,411
FA2E J123H 27,000 104,411 ATT7,411
201 ZBt2gl 20,000 41,531 221,531
01 AR 22l 20,000 41,531 221,531
ORAN2Z AtR22lH] 20,000
202 044l 7,000 12,480 25,480
01 =LHOIHI 7,000 12,480 5,480
fA2E =AY 7,000
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